SZPREFIAH

R B

v/

P
|
SZPR: SZPYZ% 02: @2 16: @16 N: TSR KElEE BaER |02~08]010~016]020~032/040~350
04: @4 20: @20 S B 04 .. QA= ° ° °
06: @6 25: @25 06 | NE e [ e n ~
i3z
08: @8 32: @32 08 X O8E= .
10: @10 40: @40
13: @13 50: @50
R | IR IREER VERERD| 1B B 1R |02 ~D8|D10~D16(020~B32|340~B50
U FH | @2 @4 @6 @8 @10 @13 @16 @20 @25 @32 @40 @50 4p LAS5 | M5x0.8 ° o
C SRR 210 @13 @16 @20 @25 @32 @40 @50 X [A6| M6x1 ° °
D R @10 216 @25 240 | A8 | M8x1
B XEEH 06 @8 @10 @13 @16 @20 @25 @32 P40 @50 B4 | M4x0.7 °
m@ B5 | M5x08 | e
w | B6 | M6x1
B8 [ M8x1.25
SZPRAEFIATEMNBEETIRE, REFRO10, FTRE, THEBRR, ETEERN: REELOV4ASE,;
REEERES T JMEL, 1BNEREM5%0.8, EiJTHBH: SZPRT0UN-04-A5
SZPRS REFHN: IMRL
AANR
8 5
o Tn AANL
< ma) 10 pich=7 A B C D E F G H
o ' _‘ - SZPRS-04-A5 | 21 46 | 4 | 20.6 | M5x0.8 | 4 | 156 | 10.4
o T ﬁggﬁ SZPRS-06-A5 | 21 46 | 4 | 21.6 | M5x0.8 | 6 | 16.6 | 12.8
o L | SZPRS-04-A6 | 26 51 3 20.6 | M6x1.0 | 4 | 15.6 | 10.4
o E[ - §I SZPRS-06-A6 | 26 51 3 216 | M6x1.0 | 6 | 166 [ 12.8
G
2 J \@sn
_M5x08| | (t=0.5)
SZPRS ®RE A : HIRL
AANR D
BS A D E F G H
SZPRS-04-B4 4 20.6 M4x0.7 4 15.6 10.4
SZPRS-06-B4 5 21.6 M4x0.7 6 16.6 12.8
SZPRS-04-B5 6 20.6 M5x0.8 4 15.6 10.4
SZPRS-06-B5 4 21.6 M5x0.8 6 16.6 12.8
SZPRS-04-B6 5 20.6 M6x1.0 4 15.6 10.4
SZPRS-06-B6 6 21.6 M6x1.0 6 16.6 12.8

www.emc-machinery.com

5.72



SZPREF A 45 B ¥ E-MC’

SZPRLEZH#R A : SMRLL

8BS A B C
SZPRL-04-A6 26 | 545 [ 8 | 233 | M6x1
SZPRL-06-A6 26 | 545 | 8
SZPRL-08-A6 26 | 545 | 8 | 26.2 | M6x1
SZPRL-04-A8 16 | 445 | 12 | 23.3 | M8x1
SZPRL-06-A8 16 | 445 | 12 | 24.3 | M8x1
SZPRL-08-A8 16 1 445 | 12 | 26.2 | M8x1

o | o s [or > T
-
d
9
-
v
N

o o folo|o|o

AEHD S A D E F G H
- PL.‘ SZPRL-04-B5 | 5 233 | M5x08 | 4 15.6 10.4

£ SZPRL-06-B5 | 6 243 | M5x0.8 6 16.6 12.8

A e SZPRL-08-B5| 8 | 262 | M5x08 | 8 | 187 | 15.2

" ‘ SZPRL-04-B6 | 5 233 | M6x1.0 | 4 15.6 10.4
8, , Eg SZPRL-06-B6 | 6 243 | M6x1.0 6 16.6 12.8
3 L s SZPRL-08-B6 | 8 262 | M6x1.0 8 18.7 15.2

o SZPRL-04-B6| 5 233 | M8x1.0 | 4 15.6 10.4
ga ||\ EHE SZPRL-06-B6 | 6 243 M8x1.0 6 16.6 12.8
Meell, | (1=09) SZPRL-08-B6 | 8 | 262 | M8x10 | 8 | 187 | 152

RN JMEK

BE O} &ZEA (@)eih (@) eih
SZPROUDO-04-A5 66.5 SZPRS-04-A5
SZPROUDO-06-A5 70.5 SZPRS-06-A5 SZPT1-B5
SZPROUO-04-A6 66.5 SZPRS-04-A6
SZPROULI-06-A6 70.5 SZPRS-06-A6

@ET
TEHTR: RIEY
BS O R &ZA (@ @i&ED 2
SZPROU-04-B4 SZPRS-04-B4
SZPROUO-06-B4 445 SZPRS-06-B4 S7PT1-B5
SZPROUD-04-B5 SZPRS-04-B5
SZPROU[-06-B5 SZPRS-06-B5

REFN: JMRK

s O MR #&A OiEk=R @iEEe=R
SZPROB[I-04-A5 66.5 SZPRS-04-A5
SZPROBO-06-A5 66.5 SZPRS-06-A5 SZPT1-B5
SZPROB[-04-A6 71.5 SZPRS-04-A6
SZPROB[I-06-A6 71.5 SZPRS-06-A6

OiEfias
TEHN: B
BS O MR &A (@5 @&k s
SZPROBO-04-B4 SZPRS-04-B4
SZPROB-06-B4 445 SZPRS-06-B4 SZPT1-BS
SZPROBO-04-B5 SZPRS-04-B5
SZPROB-06-B5 SZPRS-06-B5

5.73 www.emc-machinery.com



SZPRRFATHEME
\*‘ E-MC

SER (U) ORER: 10,13,16

REF: IMEY
OM&E: A 5 5

= & &

pich=j 0 13 16 @I&EfCES @iEECES
SZPROU[J-04-A5 67 67 67.5 | SZPRS-04-A5
SZPROU-06-A5 67 67 67.5 | SZPRS-06-A5 SZPT2-B5S
SZPROUO-04-A6 72 72 72.5 | SZPRS-04-A6
SZPROUJ-06-A6 72 72 72.5 | SZPRS-06-A6

REF: RIELY
OIR#E A . o

= & &

s 70 13 T @iEEeES QiEfees
SZPROUO-04-B5 SZPRS-04-B5
SZPROVDI0685 | 0 | 45 | 465 [|SZPRS-06-B5| ozpr)ps
SZPROUO-04-B6 SZPRS-04-B6
SZPROU-06-B6 SZPRS-06-B6

REF: IMEY
OM&E: A 5 g

) =2 & &

pich=j 70 13 6 @i&ERES (@)=
SZPR O C[-04-A5 67 67 67.5 | SZPRS-04-A5
SZPR O C-06-A5 67 67 67.5 | SZPRS-06-A5 SZPT2-B5S
SZPROCO-04-A6 72 72 72.5 | SZPRS-04-A6
SZPROC[I-06-A6 72 72 72.5 | SZPRS-06-A6

REF: RIELR
Op&E A N 5
= & &
pich=3 70 13 6 @IEfCES (@)=
SZPR O C[1-04-B5 SZPRS-04-B5
SZPR O C[-06-B5 46 46 46.5 SZPRS-06-B5 SZPT2-B5S
SZPROC-04-B6 SZPRS-04-B6
SZPRO CI-06-B6 SZPRS-06-B6
REFN: IMER
OMR&E: A . g
= & &

BS 70 13 16 (@G Q@l&EfceEs
SZPROB[J-04-A5 71 73.5 75 SZPRS-04-A5
SZPROB[-06-A5 71 73.5 75 SZPRS-06-A5 SZPT2-B5
SZPROB[I-04-A6 76 78.5 80 | SZPRS-04-A6
SZPROB[I-06-A6 76 78.5 80 | SZPRS-06-A6

REF: RIER
Og&E A . 5

= & &

pich=3 70 13 6 @IEfCES (@i
SZPROB[]-04-B5 SZPRS-04-B5
SZPROB[J-06-B5 50 525 54 SZPRS-06-B5 SZPT2-B5S
SZPROB[I-04-B6 SZPRS-04-B6
SZPROB[1-06-B6 SZPRS-06-B6

www.emc-machinery.com

5.74



SZPREFIAHE HhEY

RN JMRL

FERwHR (C) Om#A: 20, 25, 30
0
(.}

o o .
me CBRA oERE | oEE®
SZPRODO-04-A5 70 71 SZPRS-04-A5
SZPROD-06-A5 70 71 SZPRS-06-A5 SZPT2-B5S
SZPROD-04-A6 75 76 SZPRS-04-A6
SZPROD-06-A6 75 76 SZPRS-06-A6
2R RE
(o)) . .
me —BEA oERE | omms
SZPRO D[-04-B5 SZPRS-04-B5
SZPROD[-06-B5 49 50 SZPRS-06-B5 SZPT2-B5
SZPROD-04-B6 SZPRS-04-B6
SZPROD-06-B6 SZPRS-06-B6
A ML
O A . X
= &l &
me TPEA | oEEE | oS
SZPROUO-04-A6 83.5 83.5 84 SZPRL-04-A6
SZPROU-06-A6 83.5 83.5 84 SZPRL-06-A6
SZPROU-08-A6 83.5 83.5 84 SZPRL-08-A6 SZPT3-B8
SZPROU-04-A8 73.5 73.5 74 SZPRL-04-A8
SZPROUI-06-A8 73.5 73.5 74 SZPRL-06-A8
SZPROU[-08-A8 73.5 73.5 74 SZPRL-08-A8
2R REY
O A N 8
E= & &
= 20 25 P [@)ETiTE] (@) ETiTE]
SZPROU-04-B5 SZPRS-04-B5
SZPROUI-06-B5 SZPRS-06-B5
SZPROUI-08-B5 SZPRS-08-B5
SZPROUO-04-B6 SZPRS-04-B6
SZPROUO-06-B6 57.6 57.6 58.1 SZPRS-06-B6 | SZPT3-B8
SZPROUI-08-B6 SZPRS-08-B6
SZPROUO-04-B8 SZPRS-04-B8
SZPROUI-06-B8 SZPRS-06-B8
SZPROUO-08-B8 SZPRS-08-B8
R SMELY
Oﬂﬁﬁ A o .
= & &
= 20 25 P (@) @&k =%
SZPROCO-04-A6 83.5 83.5 84 SZPRL-04-A6
SZPROC-06-A6 83.5 83.5 84 SZPRL-06-A6
SZPROC-08-A6 83.5 83.5 84 SZPRL-08-A6 SZPT3-BS
SZPROC[-04-A8 73.5 73.5 74 SZPRL-04-A8
SZPROC-06-A8 73.5 73.5 74 SZPRL-06-A8
SZPROC[J-08-A8 73.5 73.5 74 SZPRL-08-A8

www.emc-machinery.com




SZPREFIAH

RipE
¥ EuC

FHE

Bh(C) Om#: 20, 25, 30

TR RIRYK

]

me TR A | oEEE | ommS
SZPROC[I-04-B5 SZPRS-04-B5
SZPROC-06-B5 SZPRS-06-B5
SZPROC[-08-B5 SZPRS-08-B5
SZPROC[-04-B6 SZPRS-04-B6
SZPROC-06-B6 57.6 57.6 58.1 SZPRS-06-B6 | SZPT3-B8
SZPROC[-08-B6 SZPRS-08-B6
SZPROC[J-04-B8 SZPRS-04-B8
SZPROC-06-B8 SZPRS-06-B8
SZPROC[-08-B8 SZPRS-08-B8
R AMEY
me = O"&;ﬁsA S| oEEs | oEEE
SZPROBI-04-A6 93 93.5 98.5 | SZPRL-04-A6
SZPROBI-06-A6 93 93.5 98.5 | SZPRL-06-A6
SZPROBI-08-A6 93 93.5 98.5 | SZPRL-08-A6 SZPT3-BS
SZPROB[I-04-A8 83 83.5 88.5 | SZPRL-04-A8
SZPROBI-06-A8 83 83.5 88.5 | SZPRL-06-A8
SZPROB[1-08-A8 83 83.5 88.5 | SZPRL-08-A8
TP REY
me = O"&Z?A S| oEms | omms
SZPROB[I-04-B5 SZPRS-04-B5
SZPROB-06-B5 SZPRS-06-B5
SZPROB[I-08-B5 SZPRS-08-B5
SZPROB[I-04-B6 SZPRS-04-B6
SZPROB-06-B6 67.1 67.6 72.6 | SZPRS-06-B6 | SZPT3-B8
SZPROBI-08-B6 SZPRS-08-B6
SZPROB[I-04-B8 SZPRS-04-B8
SZPROBI-06-B8 SZPRS-06-B8
SZPROB[I-08-B8 SZPRS-08-B8
LR ML
e A OERSE OERE
SZPR25D[J-04-A6 89.5 SZPRS-04-A6
SZPR25D[-06-A6 89.5 SZPRS-06-A6
SZPROSDLI-08-A6 89.5 SZPRS-08-A6 S7PT3-B8
SZPR25D[1-04-A8 79.5 SZPRS-04-A8
SZPR25D[1-06-A8 79.5 SZPRS-06-A8
SZPR25D[]-08-A8 79.5 SZPRS-08-A8
TR REY
me A OERSE OEmE
SZPR25D[J-04-B5 SZPRS-04-B5
SZPR25D[J-06-B5 SZPRS-06-B5
SZPR25D[J-08-B5 SZPRS-08-B5
SZPR25D[]-04-B6 SZPRS-04-B6
SZPR25D[J-06-B6 63.6 SZPRS-06-B6 SZPT3-B8
SZPR25D[J-08-B6 SZPRS-08-B6
SZPR25D[]-04-B8 SZPRS-04-B8
SZPR25D[J-06-B8 SZPRS-06-B8
SZPR25D[J-08-B8 SZPRS-08-B8

www.emc-machinery.com

5.76



5.77

SZPREFIAHE HhEY

ER (U) Om#E: 40,50

REF: JMEK

O A

me = = oERE | oEE®
SZPROUO-06-A6 86.5 87.5 SZPRL-06-A6
SZPROUI-08-A6 86.5 87.5 SZPRL-08-A6 SZPT4-B8
SZPROU-06-A8 76.5 77.5 SZPRL-08-A8
SZPROU-08-A8 76.5 77.5 SZPRL-08-A8
2L REY
O o .
me Bg A oERE | oEmEs
40 50
SZPROUI-06-B6 SZPRL-06-B6
SZPROUI-08-B6 60.6 61.6 SZPRL-08-B6 SZPT4-BS
SZPROU-06-B8 SZPRL-08-B8
SZPROUJ-08-B8 SZPRL-08-B8
2R SMEY
OMR#E A ‘ g
= & &
me - = OERE | oEmE
SZPROC[-06-A6 86.5 87.5 SZPRL-06-A6
SZPROCO-08-A6 86.5 87.5 SZPRL-08-A6 SZPT4-B8
SZPROC[-06-A8 76.5 77.5 SZPRL-08-A8
SZPROC[-08-A8 76.5 77.5 SZPRL-08-A8
2R REY
OMR#E A ‘ g
JE=! & &
me — — OERE | oEmEs
SZPROC[-06-B6 SZPRL-06-B6
SZPROCLI-08-B6 60.6 61.6 |-SZPRL-08BE | o7pry pg
SZPROC[I-06-B8 SZPRL-08-B8
SZPROC[]-08-B8 SZPRL-08-B8
BRAL: HMER
(e) o o
me A oERE | oEE®
SZPROB-06-A6 102 106 SZPRL-06-A6
SZPROB[]-08-A6 102 106 SZPRL-08-A6 SZPT4-BS
SZPROB-06-A8 92 96 SZPRL-08-A8
SZPROBI-08-A8 92 96 SZPRL-08-A8
ZEER: KBy
(e) o o
me e A oERE | omEEs
40 50
SZPROB-06-B6 SZPRL-06-B6
SZPROB[1-08-B6 76.1 80.1 SZPRL-08-B6 SZPT4-BS
SZPROB-06-B8 SZPRL-08-B8
SZPROB[I-08-B8 SZPRL-08-B8

www.emc-machinery.com




SZPRRFATHEME
$ E-MC

REFI: FMEK

BS A @1Ef R @&t
SZPRAOD I-06-A6 102 SZPRS-06-A6
SZPRAOD0-08-A6 120 SZPRS-08-A6 SZPT4-BS
SZPRAODJ-06-A8 92 SZPRS-08-A8
SZPRAODJ-08-A8 92 SZPRS-08-A8

REH: WEK

&
=

BS A OEf =R @i
SZPRA0D1-06-B6 SZPRS-06-B6
SZPRAODJ-08-B6 711 SZPRS-08-B6 SZPT4-BS
SZPRAOD 1-06-B8 SZPRS-06-B8
SZPRAODJ-08-B8 SZPRS-08-B8

www.emc-machinery.com 5.78





